DHULIKHEL HOSPITAL KATHMANDU UNIVERSITY HOSPITAL

Supply, Delivery and Purchase of Printing Items DH/NCB/GOODS/Printing/01/2081/82 List of Approved Printing Items

M/S. Jugal Printers & Traders

Annex 1

S.No	Particular	Unit	Specifications	Quoted Rate	Selected Bidder	Allotted Quantity	Amount
1	A4, one color, double side, Cardboard Paper						
	MEDICINE CARDEX A4 CARDBOARD	PIECES	As per Hospital Standard	1.97	Jugal	33000	65,010.00
	ANC CARD ANTENATAL CARDBOARD	PIECES	As per Hospital Standard	1.97	Jugal	11000	21,670.00
						Total	86,680.00
						VAT	11,268.40
						Grand Total	97,948.40



DHULIKHEL HOSPITAL KATHMANDU UNIVERSITY HOSPITAL

Supply, Delivery and Purchase of Printing Items DH/NCB/GOODS/Printing/01/2081/82 List of Approved Printing Items

M/S. 3D Printers & Publishers

Annex 2

					Annex 2			
S.No	Particular	Unit	Specifications	Quoted Rate	Selected Bidder	Allotted Quantity	Amount	
2	A4, one color, single side, Cardboard		-					
	BIRTH CERTIFICATE ORIGINAL	PIECES	As per Hospital Standard	7.00	3D Print	9931	69,517.0	
3	A4, one color, double side, 70 gms					955000		
	DAILY PATIENT CLINICAL NOTE A4 BOTH SIDE (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	99.00	3D Print	550	54,450.0	
	VITAL SIGN TPR FORM (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	99.00	3D Print	465	46,035.0	
	NURSING RECORD FORM A4 BOTH SIDE (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	99.00	3D Print	377	37,323.0	
	CREDIT CHARGE SHEET A4 BOTH SIDE (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	99.00	3D Print	328	32,472.0	
	VENTILATOR/OXYGENFLOW CHARGE SHEET A4 BOTH SIDE (1Pad = 100 Sheets)	PAD	As per Hospital Standard	99.00	3D Print	172	17,028.0	
4	A4, one color, single side, 70 gms						4	
	INTAKE OUTPUT A4 (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	99.00	3D Print	259	25,641.00	
	LABORATORY REPORT PRINTING PAPER A4 I (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	85.00	3D Print	2830	240,550.00	
	EMERGENCY DISCHARGE FORM, A4 SIZE (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	99.00	3D Print	770	76,230.00	
	EMERGENCY TRIAGE FORM, A4 SINGLE SIDE (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	99.00	3D Print	330	32,670.00	
	RADIO DIAGNOSIS FORM A4 SINGLE SIDE (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	99.00	3D Print	220	21,780.00	
	BIRTH CERTIFICATE DUPLICATE (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	99.00	3D Print	206	20,394.00	

5	A4 1/2, double side, two color 70 gms						
	MICROBIOLOGY FORM A4 1/2 A4 1/2 BOTH (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	47.00	3D Print	1119	52 502 00
	ROUTINE BIOCHEMICAL PARAMETERS ON BLOOD A4 1/2 BOTH (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	47.00	3D Print	1965	
6	A4 1/2, one color, single side 70 gms			55555555566		1700	72,333.00
	RADIOLOGY FORM A4 1/2 (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	47.00	3D Print	1779	83,613.00
	MISCELLANEOUS FORM A4 1/2 (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	47.00	3D Print	1718	
	URINE TEST FORM A4 1/2 (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	47.00	3D Print	815	38,305.00
	HEMATOLOGY FORM A4 1/2 (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	47.00	3D Print	812	38,164.00
	REQUISITION FORM A4 1/2 (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	47.00	3D Print	440	F111407 (8) 11 5 5 7 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5
10	Carbon less paper, A4, one color, single side, 70 gms				35 Time	440	20,680.00
	OPD TICKET FOR SHSP, CARBON LESS PAPER A4 SIZE	PIECES	As per Hospital Standard	1.11	3D Print	580800	644,688.00
	OUTREACH OPD TICKET A4 SIZE (CARBON LESS PAPER)	PIECES	As per Hospital Standard	1.11	3D Print	22000	24,420.00
				**************************************		Total	1,749,654.00
				8		VAT	1,742,034.00



Grand Total 1,977,109.02

DHULIKHEL HOSPITAL KATHMANDU UNIVERSITY HOSPITAL

Supply, Delivery and Purchase of Printing Items DH/NCB/GOODS/Printing/01/2081/82 List of Approved Printing Items

M/S. Lumbini Buddha Printers

Annex 3

Grand Total

1,368,605.15

					Ailliex 5		
S.No	Tarticular	Unit	Specifications	Quoted Rate	Selected Bidder	Allotted Quantity	Amount
6	A4 1/2, one color, single side 70 gms						
	MEDICINE COMPUTER BILL	PIECES	As per Hospital Standard	0.46	Lumbini	1204500	554,070.0
7	A3, one color, double side, 70 gms						
	PRE-ANAESTHESIA ASSESSMENT A3 II (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	198.00	Lumbini	110	21,780.00
8	A3, one color, single side, 70 gms		As per Hospital Standard				9 * 9 CORES
	NICU /PICU FORM A3 SIZE (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	197.00	Lumbini	110	21,670.00
9	A2, one color, double side, 70 gms						
	ICU/CCU NURSING FLOW CHART (1 Pad = 100 Sheets)	PAD	As per Hospital Standard	205.00	Lumbini	110	22,550.00
10	DH OPD Card A4 1/2 one color with Carboard Cover 15 pages	PIECES	As per Hospital Standard	9.77	Lumbini	60500	591,085.00
		- /	TEL HO	I		Гotal	1,211,155.00
		B B			Ī	VAT	157,450.15

